feel

GyeongNam

20094 48

CN12. 2= 1t =M

20004 4y
a8 HHEFA 1
(tHI]& 3 1)



£
Ra
N
1

o
.:“'.
1>

(CAD: 80.9%(FS == ER)
0 %R - YU SO B2 ME(93.4%)UHHI &4 12.5% E& 24
@ Fe, T Fo 5 YIS 0l E

=

208l : 8Oz, NO2, O3, CO, PMyg 8= St

& SOz (ppm) |NOz (ppm)| Oz (ppm) | CO (ppm) | PMio (ug/m’)
=

?

= Z 0.005 0.024 0.041 0.5 57
& 3 0.004 0.020 0.032 0.4 48
HE=sE 0.004 0.019 0.038 0.4 51

O =R UZAIS EEZ WIS dlw @ A0l MEHECSZ
STt Y 3(0sH2)
¥ UHEAIE0H TS &) Rl 2 S0| =2 JRICE @FEC| ilizr St =3

7 & SOz (ppm) NO2 (ppm) Oz (ppm) CO (ppm) PMio(sg/m’)
== 0.005 0.024 0.041 0.5 57
AN 2 0.006 0.044 0.028 0.6 66
£ 4 0.006 0.025 0.038 0.4 63
- 0.005 0.026 0.037 0.5 54

0 I35 =& 20t 2= &=01 JIE0/010|0d MECHH| 2 SOt

B ¥73°1E xfely : LY NOz, PM, O; ?[&E2&R 391
@ NO2(1hr, 24hr)Jl&E=1 © 83, 18(&8& 0, 03l)
& PMio(24hr)J1 & =1t D 323(& & 223])
@ Os(thr, 8hr)JI& =1t D77, 21621(&8& 0, 213])

& 7AA
9 MU =" OH RIS A5(04~15 C), 222 =IH15~60.3 mm),
HRoUA =IH3~8 L), UAIZF =IH61.8~191.0 W/nP)

@ oPles sers
0 =2 B2, MM & ZAME S8 ds22 2E2 Stotd, 10€
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<El1> 20094 42 EZAE SEUIIES I+ HIEHE

S D] ZH2A| OFAFA
& IR PNES _ bt |
(CAI) IISAs [ SEs | EAs | SAS | AllsS cou SlRs | S2=

0~50 10.4 13.1 10.8 10.6 8.1 6.0 7.4 6.8
51~100 73.6 65.8 75.1 77.2 70.1 67.9 73.8 | 754
101~150 | 12.2 11.8 11.8 10.7 12.6 14.3 11.9 13.1
151~250 3.8 7.8 2.2 1.3 9.2 11.8 6.9 4.7

251~350
351~500

(A2t Z2I1&E, &2l %)
sa7] Al ZISH Al ZISH Al QEAFA St
BANHCA) p=s | ots | ABE | ZHE | SAS | MBE | =225 | 248 SES

0~50 5.3 0.6 8.3 10.0 1.1 19.4 7.6 16.7 6.0

51~100 = 75.1 1 66.7 | 714 738 76.8 | 64.3 67.6 688 | 76.0

101~150 | 16.9 | 24.7 185 | 11.3 | 14.0 | 111 18.5 129 | 16.0

151~250 @ 2.6 7.8 1.5 5.0 8.1 4.2 3.3 1.7 1.5

251~350 0 0 0 0 0

351~500

o

12> 20094 48 Al I1gEI|IE X
S Os PMio NO2 CcO

- 1AI2F 8Al2F 24N 2+ 1AI2F 24 A 2+ 1AI2F 24 A2t
lemE 9 15 i 0 0 0 0
Sue 0 10 4 0 0 0 0
BN | DNE 4 13 i 0 0 0 0
S 8 15 0 0 0 0 0
AIFE 11 15 2 0 0 0 0
sleE 16 15 i 0 0 0 0
e T 8 13 1 0 0 0 0
MEE i 11 i 2 0 0 0
EV T 0 9 7 0 0 0 0
MNBE 0 7 i 0 0 0 0
AN | HsE 4 18 0 0 0 0 0
S | EAE i 14 2 0 0 0 0
MoE 4 11 i 0 0 0 0
oy | S7E 4 14 0 6 1 0 0
ey 2 14 0 0 0 0 0
sles | sl=s 10 > 0 0 0 0
meN | pae 5 12 6 0 0 0 0
3 77 216 32 8 : 0 0




i3y A

2= SO, (ppm) | NO2 (ppm) | Oz (ppm) | CO (ppm) | PMyo (ug/m’)
20094 438 0.005 0.031 0.035 0.5 68
2009 3&E 0.004 0.023 0.027 0.4 55
CBHIA BAYE WIIS3S QAT W ¥
(SR @ pg/m)
< = Pb Cd Cr Cu Mn Fe Ni
2009 43 | 0.1394 | 0.0000 | 0.0687 | 0.0592 | 0.2114 | 3.0854 | 0.0183
20094 3E | 0.0338 | 0.0013 | 0.0482 | 0.0513 | 0.1344 | 1.7826 | 0.0191
«tas WIISED dX| o
17004 (Z& 60, OFaF 200, &3= 300, ZoH1OH, 200 200, 24 200 ,6HsS 10H)
ICE | =/HAY (2EXY =P AXEC [ RHDMEAS|[AREA| 6 D
701 [JI2d=E] =9 [LGEX 12F 1997.02 | 1997.02 | E=2IA|
702 | 24 | = | sS40ttt 1999.04 | 1999.06 | E2IA|
703 | HAS | =H |HA2=E CIKFAME | 1993.04 | 1999.04 | LAl wIiE3s=mY
704 | XS | ==H [2X= FOMEH | 2007.07 | 2007.07 | ZHAAl | EHeAA e
705 | MIIES | =X |AIIE FOIME | 2009.03 | 2009.03 | EHAAl | EHAA 22|
801 | Bt&2 [NASX gtE2 104 2008.11 2008.11 | EHAA | T2H=FA
711 | a9 | =X (s21= F0IME | 1993.09 | 2005.09 AF
712 | 24 | 2o |2 =0IMH 1995.03 | 2006.03
721 | 22 | =) [ M=E= F0ME | 1995.12 | 2002.12
722 | Oiots | A9l [EAD|H2H 1997.01 1997.02
723 | Ams | Zol |EHAXZ 1998.01 1998.01
731 | dals | =) A= 23 1994.10 | 2002.10
741 | SAS | =H |SAas Z=0dH 1995.07 | 1995.07
742 | Muts | =) [ AOxSEED 2003.02 | 2003.02
751 | 2825 | =X |UBHeols 2AKIE | 1999.04 | 1999.04
752 | 2AS | ==H |24 Lo=XEZ | 2004.12 | 2004.12
761 | ot=S | =X |Gt==H 2007.08 | 2007.08
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